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L 1] FUFEVRUZOILEN 002 me/L] <0.0015 <00002] <0.0015] <0001] <0.002] <00015] <0.001] <00015] <0002] <0002] <0.002] <00015] <0001 <0.002] <0.002] <0.002]  <0.002] <0.002] <0.002] <0.002] 20
| 2| ggg SV RUZOIEEN 0.002 me/L <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <00002] <0.0002] <00002] <0.0002] <0.0002] <0.0002] <00002] <0.0002| <0.0002] <0.0002] <0.0002] <0.0002| <0.0002] <0.0002] <0.000] 20
3 =y LRUZDIEEM 002 me/Lf o | <0001 o002 <0001 <0001 <0002f <0001 <0001] <0001] 0002 <ooot] <ooot| <ooor] <0001 <0001 <0001 <0.002 0003] <0001] <0.001] <0.001 20
sl _,, [2=vzmezs 0.004 me/L <0.0004] <0.0002] <0.0004] <0.0004] <0.0004| <00004] <0.0004| <00004] <0.0004] <0.0004| <0.0001| <00004| <0.0004| <0.0002] <0.0002] <0.0004] <0.0004| <00004] <0.0004| <0.0004 20
] e - [ 04 me/L <0.001[ <0.001] <0001 <0.001[ <004 <0001] <0001] <0o001] <004 <004 <0001 <0.02] <0001] <0001] <0001] <0.04 <004 <004] <004] <004 20
9 DRI 2—IFLARUL) 008 me/L <0.008] <0.005] <0.008] <0.008] <0008] <0008] <0008] <0008] <ooos| <0008] <0008  <ooos| <0008] <0008] <ooos| <o.00s]  <0.008] <0008 <0008 <0008 20
| 10] BIEEH 06 me/L <006  <006] <oo06] <006] <006 <006 <006  <0.06 <0.06 <006] <006  <0.06 12
| 12| 51%@'&# —EItiER 06 me/tl | <006] <006] <oo6[ <o06[ <oos] <006l <006l <006 <006 <006  <0.06 11
IRE e e 001 me/L| <0001  0002] <0001] <0001] o0002] <0001 0003 <0001 o0001] 0001] 0001 <0001[ <0001| <0001] <0001 <0.001] <0.001] <0001 <0.001 19
14 fakons—L 002 me/L] <0002]  0006] <0.002] 0002 0007 0002 001 0004 0003 0005 0004 <0002[ 0002] <0002 <0002 <0.002] <0002 <0.002] <0002 19
15| BE |mEs 1 Uk o[ <oo1 0 0 0 0 0 0 0 0| <1 0 0 0 0 0 0 0 18
16| S e 10 me/L 02| 040 02 0.2 04 05 04 03 0.6 03 04 02 02 03 030 02 04 03 02 19
17w g’)"”w"v'j*:"ﬂ‘%(ﬁ 10~100 me/L| sk 33 13 36 36 51 70 94 67 63 a1 36 98 56 44 99 50 78 98 96 19
18] ®E [ divmRUZORED 001 me/L <0001]  <0.001] <0001] <0001] <0.005] <0.005] <0001] <0001 <0005 <0.001] <0005 <0.001] <0001 <0.001] <0.001 <0.001] <0001] <0001]  0.003 19
19]  m [wmeEe 20 me/L 36 1.3 1.7 1 3.0 24 2 23 44 26 2.1 5.0 <1 26| 241 34 23 47 4.1 19 1
[ 20] . [LtitusmEzsy 03 me/tf oo | <0001 <0001 <0001 <ooor] <003 <000t <0001 <0001 <003 <003] <ooot <003 <0001] <0001] <0001] <003 <003 <003 <003 <003 20
21 AFLATFLI-TI 002 me/L| <0001] <0.001] <0.001] <0.001] <0.002] <0001] <0001] <0001] <0.002] <0002] <0.001]  <0002] <0001] <0001 <0.001] <0.002]  <0.002] <0.002] <0002 <0.002 20
2| & f@*@/ﬁ.’&# LR E) 3 me/L| 1 04 0.7 22 16 038 25 23 08 04 25 038 12 <02 03 03 <03 <03 <03 19
23| R& [253mETON) 3 < 1 < <1 < <1 < <1 <1 <1 < <1 < <1 < < <1 < <1 19
24| m|HEREED 30~200 me/L| K 73 45 134 100] 1205 113 190 127 138 132 74 217 120 112 209 128 201 249 258 19 5
25| R [ 1 <041 <0.1 <041 <01 <041 <01 <041 <01 <0.1 <01 <041 <0.1 <041 <01 <041 <041 <01 <041 <01 19
| 2] oo [oHiE 758 74 7.4 76 74 74 8.1 76 7.7 73 74 75 75 76 75 6.6 7.2 8.1 73 78 19
27 BRI (S5 UTER) iR -2.1 31  -21 -16 14 -08 -07]  -06 -15] 13 -15 -0.74 -1.0 -12 -1.7 14 0.1 -08 01 19 11
28| 3ok, [HERETEMECEK) 2,000 B/mL| K 0 0 5 0 0 3 0 290 1 0 4 14 0 4 10 2 4 0 2 19
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30 #®E [FLs=oLRUEZOEED 0.10 me/L| K o] 002 007 001 0.09 007] 006 0.10 0.04 006] 002 <001 001 <001] <001 002 <001  <oo01] <001 19
31 —ﬂgﬁﬁ%"”'m“””"*"”“’5"""W'm””’m""“ 0.00005 mg/L| RK |<0.000005 [<0.000005|<0.000005 | <0.000005 [<0.000005 |<0.000005 | 0.000006|<0.000005 |<0.000005 [<0.000005 0.000050 |<0.000005 [<0.000005|<0.000005 |<0.000005 | <0.000005 |<0.000005 |<0.000005|<0.000005 19
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R5.2.1 R4.12.13 R5.2.6 R5.2.1 R5.2.1 R5.2.8 R5.2.1 R5.2.7 R5.2.8 R5.2.7 R5.2.7 R5.2.1 R5.2.1 R5.2.1 R5.2.1 R5.2.1 R5.2.7 R5.2.7 R5.2.7 R5.2.8
R4.12.19
R5.1.16
1 — FUFEVRUEDIEAY 0.02 me/L] <0.0015| <0.0002]  0.003] <0.001| <0002] <0.0015] <0.001[ <0.0015 <0.002| <0.002| <0002 <0.0015] <0.001] <0.002[ <0.002] <0002] <0.002] <0.002[ <0.002] <0.002) 20
2| Fag |VVRUZOEEY 0.002 me/L] <0.0002] <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002[ <0.0002] <0.0002| <0.0002| <0.0002[ <0.0002] <0.0002| <0.0002[ <0.0002| <0.0002| <0.0002| <0.0002| <0.0002| <0.0002) 20
3 —VT LRUZDIEED 0.02 me/l] | <0001] <0001] <0.001] <0001] <0002 <0.001] 0003] <0001] 0002 <0.001] <0.001 <0001] <0001] <0.001[ <0.001] <0002 0003 <0.001[ <0.001] <0.001 20
5 w1 2—vHnnIsy 0.004 me/L] <0.0004| <0.0002| <0.0004] <0.0004] <0.0004| <0.0004| 0.0004] <0.0004] <0.0004| <0.0004| <0.0001] <0.0004| <0.0004| <0.0002[ <0.0002| <0.0004| <0.0004| <0.0004] <0.0004| <0.0004 20
8| gy [FLTV 0.4 me/L| <0001] <0.001[ <0001] <0001 <004 <0001] <0.001[ <0001 <004 <0.04] <0.001 <002]  <0001[ <0001| <0001] <004 <004 <004] <004 <004 20
9 THVEES (2—IFIARUL) 0.08 me/L] <0.008] <0.005] <0.008] <0.008] <0.0008] <0.008] <0.008] <0.008] <0008 <0.008] <0.008| <0008 <0008 <0008 <0.008] <0008 <0.008| <0.008] <0.08] <0.008 20
o - |EERE 0.6 me/L| <006| <006] <006 <006] <006 <006/ <0.06] <0.06 <0.06 <006| <0.06] <006 <006 13
12 ’%;ﬂ';é‘ ZEILER 0.6 me/L] ok <006| <0.06] <006 <006] <006 <006/ <0.06] <0.06 <006] <006 <0.06|  <0.06 12
vy L) B 7
13| Ty [YmazErsiL 0.01 me/L| <0.001| <0.001[ <0.001] <0.001 0001] <0.001] 0001] <0001] <0.001] <0.001[ <0.001 <0001|  <0.001] <0001] <0.001] <0.001[ <0001 <0001] <0.001] <0.001 20
14 fakon5—)L 0.02 me/L] <0002] <0.002] <0002 <0002] 0002] <0002] 0003] <0002] <0002] <0.002] 0002 <0002] <0002] <0.002] <0.002] <0002] <0.002| <0.002[ <0.002] <0.002) 20
15| BE (B 1 Bk 0| <001 0 0 0 0 0 0 0 0 < 0 0 0 0 0 0 0 0 19
16 ;i‘%ﬁ BBIER 1.0 meg/L| 02| 042 0.6 0.20 0.6 0.4 0.4 0.3 0.71 0.3 0.3 0.2 0.2 03 0.30 0.3 0.2 0.3 0.3 0.36 20
17| % ﬁﬂ””H’A'Vd*:’H’A%@ 10~100 me/L| 35k 40 17 63 46 66 119 140 85 78 47 41 122 58 43 96 7 52 81 o1 99 20 3
£3
18| #E [RUHVRUZOLEN 0.01 me/L <0001| <0.001[ <0.001] <0.001] <0005| <0.005] <0.001] <0.001] <0005 <0.001| <0005 <0001] <0001] <0.001[ <0.001] 0001] <0001] <0.001[ <0.001 0.003] 20
19 mk[fesemEs 20 me/L| 32 2.2 1.8 < 4.0 23 3.0 45 5.4 3.1 26 6.0 20 2.7 233 3.0 39 22 4.7 44 200 1
20 oo [1ui-busERzsy 0.3 mg/L] = | <0001 <0001] <0.001| <0001 <003 <0.001] <0001 <0001 <0.03] <003| <0.001 <003]  <0001] <0001| <0001] <003] <003 <003 <003  <0.03 20
21 AF LT FILI-FI 002 me/L <0.001| <0.001| <0.001] <0.001| <0.002| <0.001| <0.001| <0.001| <0.002| <0.002| <0.001 <0002]  <0.001] <0.001[ <0.001] <0002] <0002] <0.002] <0.002] <0.002) 20
HiRME
220 % |GG mays L aE) 3 me/L 05 03 0.2 15 1.2 05 1.9 0.9 08 <03 09 09 09 <02 <0.2 08 <03 <03 <03 0.3 20
23| B&5 |RKHE(TON) 3 <1 1 A A <1 A <1 A <1 <1 <1 <1 A <1 3 <1 <1 <1 A <1 20
24| |ERBED 30~200 me/L| K 89 57 210 120 135 183 240 139 186 17 97 214 210 106 190 156 125 187 176 248 20 5
25| ZEE [ 1 <0.1 <0.1 <0.1 o1 <o <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 20
2| oo [oHIE 1582 7.2 72 72 74 7.7 8 72 7.6 72 7.3 75 75 7.4 75 6.8 75 75 8.1 7.6 8.0 20
27 BREGUUTER —imENE -2 -28 -22 -14 -14 -05 -09 -0.8 -17 -17 -16 -0.8 -13 -13 -17 -0.7 -14 -0.1 -0.7 -0.1 20 12
28| saok e [FEBRRMEGHAK) 2,000 @/mL| Kk 0 0 2 0 0 2 0 66 0 0 0 0 0 17 0 3 0 3 0 0 20
’ REBREMEFEK) SEHE| (2000) &/mL| Bk 1,100] 7,800 970 - 2,000 -| 2300 4,400 0 - 1 1 13 13
29| —Amm|11-ConnTFLY 0.1 me/L| k| <0001] <0001| <0001| <0001] <001| <0001| <0001| <0001 <0.01 <001| <0.001 <0.002|  <0.001| <0.001| <0.001 <001 <001 <001 <0.01 <0.01 20
30| #E |FLI=VLRUZOLED 0.10 me/L| %7K 0.01 0.01 0.02 <0.01 0.03 007] <001 0.02 <0.02 0.02 0.01 <0.01 <001 <001 <001 <001 0.02 <0.01 <0.01 <0.01 20
31 [ R orrorrmnssmerossusizmasmmmmmos |0,.00005 me/L| Bk [|<0.000005 | <0.000005 | <0.000005 | <0.000005| <0.000005( <0.000005| 0.000005 | <0.000005 <0.000005 | <0.000005 0.000064 |<0.000005 | <0.000005 <0.000005| <0.000005 | <0.000005 | <0.000005 | <0.000005 | <0.000005 19 1
AR 27 27 27 27 27 27 27 28 25 25 25 24 27 27 27 25 25 25 523] 22
...... 1 e 1 2 1 e 1 1 2 1 1 1 3 2 1 1 22
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©: ot w5 #KB #KE #KB #KE #KB #KE #KB #KE #KB #KE #KE #KE #KB #KE #KB #KE #KB #KB ! ')éﬁ
R5.2.14 R4.12.21 R5.2.6 R5.1.11 R5.2.8 R5.2.6 R5.2.1 R5.2.1 R5.2.1 R5.2.6 R5.2.1 R5.2.1 R5.2.1 R5.2.1 R5.2.1 R5.2.1 R5.2.1
GYTRRRYSY L — /100 0 0 0 0 0 0 0 0 0 0 - 0 0 0 0| 15
EA el Er = ol 0 0 0 0 0 0 0 0 0 0 - 0 0 0 0 15
=" (K@ — | mPN/100mL| 23 fatt - 2 23 90.9 213 32 0 0 i fatt a8 14
RS - 18/100mL| 9 0 - 0 0 - 76 0 7 0 0 0 0 0 14
AR 2 4 2 4 4 4 4 0 4 4 4 4 4 2 2 2 2 2 2 2 58




